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PRI (1)
sinx = shx = cosy * chy

cosx * chx = siny = shy={sin(x+y) = sh(x-y) + sh(x+y) = sin(x-y)}/2

xR I (2)
cosx = shx = siny = chy

sinx = chx = cosy = shy={sin(x+y) = sh(x-y) - sh(x+y) - sin(x-y)}/2

KX I (3)
sinx = chx = cosy = shy + cosx = shx = siny = chy={sin(x+y) - sh(x+y) — sh(x-y) - sin(x-y)}/2

HIHX I (4)
sinx = shx = cosy - chy + cosx = chx = siny = shy={sin(x+y) - sh(x+y) + sh(x-y) - sin(x-y)}/2

[(MEFE-—EFIAHRRX I
/X I (1)
cosX - shx = cosy = shy + sinx = chx = siny = chy={cos (x-y) = ch(x+y) — ch(x-y) - cos (x+y)}/2

HHKXI (2
cosX - chx = cosy = chy + sinx = shx = siny = shy={cos (x-y) = ch(x+y) + ch(x-y) = cos (x+y) }/2

xFFX I (3)
cosx = chx = cosy * chy

sinx = shx = siny = shy={cos (x+y) = ch(x+y) + ch(x-y) = cos (x-y)}/2

xR I (4)
cosx = shx = cosy * shy

sinx = chx = siny = chy= {cos (x+y) = ch(x+y) — ch(x-y) - cos (x-y)}/2

[(MERE-—ER]NFHFRXI
*FRECI (1)
cosx * chx = cosy * shy + sinx = shx = siny = chy={cos (x-y) * sh(x+y) — sh(x-y) = cos (x+y)}/2
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MR (2)
cosx - shx = cosy = chy + sinx = chx = siny = shy={cos (x-y) = sh(x+y) + sh(x-y) - cos (x+y)}/2

MR (3)
cosx - shx = cosy = chy — sinx = chx = siny = shy= {cos (x+y) = sh(x+y) + sh(x-y) - cos (x-y)}/2

X (4)
cosx - chx = cosy = shy — sinx = shx = siny = chy= {cos (x+y) = sh(x+y) — sh(x-y) - cos (x-y)}/2

[P0 E - — ERE] HHRIV
PRIV (1)
sinx = shx = cosy * shy

cosx = chx = siny = chy={sin(x-y) = ch(x+y) - ch(x-y) = sin(x+y)}/2

xRV (2)
sinx = chx = cosy * chy

cosx * shx = siny = shy={sin(x-y) = ch(x+y) + ch(x-y) = sin(x+y)}/2

HIFKXIV (3)
sinx = chx = cosy - chy + cosx = shx = siny = shy={sin(x+y) - ch(x+y) + ch(x-y) - sin(x-y)}/2

HHKIV (4)
sinx = shx = cosy = shy + cosx = chx = siny = chy={sin(x+y) - ch(x+y) - ch(x-y) - sin(x-y)}/2
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(1/2) {sin(x+y) sh(x-y) +sh(x+y)sin(x-y)}

=(1/2) {(sinx = cosy +cosx = siny) (shx = chy —chx = shy)+(shx = chy +chx = shy) (sinx - cosy —cosx = siny)}

=(1/2) {sinx = cosy = shx = chy — sinx = cosy * chx = shy + cosx = siny * shx = chy - cosx - siny - chx - shy
+sinx = cosy = shx = chy — cosx = siny = shx * chy + sinx - cosy = chx = shy — cosx = siny = chx = shy}

=sinx = cosy = shx = chy — cosx = siny = chx - shy

=sinx = shx = cosy = chy — cosx * chx = siny - shy

COESIHIHK T () ANEITT=,

sinx = shx = cosy = chy — cosx = chx = siny  shy={sin(x+y)sh(x-y) +sh(x+y)sin(x-y)}/2
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sinx/ (1*+4a* -sin3x/ (3*+4a*) +sinbx/ (5*+4a*) -sin7x/ (7*+4a*) + - -

= (7 /(2a)®) {(C1+S1) cos (ax) sh(ax) —(C1-S1)sin(ax)ch(ax)}/{cos(ax)+ch(anx)} —@D
(-m/2=5x=1/2)
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CZZT. Cl=cos(an/2)ch(an/2). S1=sin(anw/2)sh(an/2), alXEENEL (0 NIBE a—>0),

CORDLODFEBO T “(C1+S1) cos (ax)sh(ax) —(C1-S1)sin(ax)ch(ax) “MN&RIZiE>1f=, DRI EH
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” C1 - cos(ax) * sh(ax)+S1 » sin(ax) - ch(ax)” % “S1 : cos(ax) - sh(ax)-C1 - sin(ax) - ch(ax)” [Z7&
B, ” C1-cos(ax) -sh(ax)+S1 = sin(ax) = ch(ax)” ¥4t HB. “cosx - chx - cosy - shy +sinx - shx -
siny - chx” MFFEZFETLT. D) KITTEF L,

IR (1)
cosx - chx = cosy = shy + sinx = shx = siny = chy= {cos (x-y) = sh(x+y) — sh(x-y) - cos (x+y)}/2
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sinx = shx = cosy = shy — cosx = chx = siny = chy={sin(x-y) = ch(x+y) — ch(x-y) = sin(x+y)}/2
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X I (1)
sinx = shx = cosy = chy — cosx * chx = siny » shy={sin(x+y) = sh(x-y) + sh(x+y) = sin(x-y)}/2
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